Name: October 22, 2002
Lecture Section (Professor or hour): Math 9, Quiz #6

Question 1 Using implicit differentiation, find 3%
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Question 2 As you learn calculus, your brain, which is a fluid (at least after so much
calculus it 1s), drains out of your head, which is spherical. Suppose your head has a radius of
15 cm. Suppose that right now, the brain-fluid is at a depth of 27 cm in your brain. Suppose
that right now, the rate of change of the radius of the surface of the fluid is +2 cm/sec. What
is the rate of change of the depth of the fluid right now? (You may leave your answer as a
fraction.)
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